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SECTION - A

1 | a) Wordworth’s imagination developed his love for nature.

b) He often spent his holidays on long walking tours, visiting places famous for the
beauty of their landscape.

c) In 1843, Wordsworth was made the Poet Laureate of England.

d) Wordsworth stopped writing after the death of his daughter.

e) (iv) Assertion is false, but Reason is true.

f) extensively

2 | Format--- 2m Content, fluency, Expression--- 4m

SECTION-B

3 | Do as Directed:

a) herself---- Reflexive Pronoun b) Akash is more intelligent than his brother.

c) that------ Demonstrative pronoun d) My friend is sitting beside me in the class.
e) enough-Adjective of Quantity

) She has enrolled for a unique adventure.

g) He will take a nine-month course with Chinese.

h) The best team has reached finals.

4 | Fill in the blanks:
a)a b)best c)which d)my e)from f)us/them/me g)into h)an

SECTION-C

5 | Answer the following questions:

a) When Rip woke up, he saw that he was at the place where he had first met the
strange old man. It was a bright sunny morning. He called for his dog but it was
nowhere to be found. He began to descend the mountain to go back to his village.
b) My shadow is the tallest in the morning because at that time the sun rays fall
horizontally thereby making a taller shadow.

C) My shadow is the tallest in the morning because at that time the sun rays fall
horizontally thereby making a taller shadow.

d) He thinks he was lucky not to be on shore at that time because the savage of the
mainland would have seen and killed him.

e) The strange thing about the men playing ninepins was that even when they
were playing a game, their faces were serious and there was complete silence
all around.

f) When we work as a team we can make our dream work. Once our work is
completed we share the joy and happiness with everyone. So, working together
is lot more fun.

6 | Reference to the context:

a) i) Robinson Crusoe is ‘I’ in the above line.

i) It is a footprint which was found on the beach.

b) i) He is like me because it is my shadow.

i) Robert Louis Stevenson

c) 1) The fences were falling into pieces because he didn’t care about them.
i) astray- away from correct path.

7 | Any relevant answer




